
1 
 

 

 ESRUOC REDNU FO ERUTCURTS -  ETAUDARG
SESRUOC  

HSILGNE NI YDUTS FO  
 

 

 

  

 

 

 

 

 

 

 

 

 

 

 

 

NOITACUDE ECNATSID FO ETUTITSNI  
YTISREVINU IHDNAG VIJAR  

HKUMIOD ,SLLIH ONOR  
HSEDARP LAHCANURA  

 

 

 
 



2 
 

 
 

HSILGNE NI YDUTS FO SESRUOC ETAUDARGREDNU FO ERUTCURTS  
 
 
 

 
1 AB ts   raeY  

 
 

GNEB - )C(101 :  yroslupmoC hsilgnE – I 
 

GNEB - (101 E): evitcelE hsilgnE  
 erutaretiL hsilgnE gnicudortnI – I 

 
 
 
 

2 AB dn  raeY  
 
 

 GNEB – 2 20  :)C(   yroslupmoC hsilgnE – II  
 

 GNEB – 2 20  :)C(   yroslupmoC hsilgnE – I II  
 

 GNEB – 202  )E( :  evitcelE hsilgnE  
 gnicudortnI  erutaretiL hsilgnE – II  

 
 
 
 

3 AB dr  raeY  
 
 

 GNEB –  303 )E( : amarD dna yrteoP gnidaeR  
 

 GNEB – 04 3 )E( : noitciF dna esorP gnidaeR  
 

 
 
 
 
 
 
 
 
 
 
 



3 
 

 
GNEB - )C(101   :  YROSLUPMOC HSILGNE – I 

 
 

:sevitcejbO  

.1  edivorp oT  tsrif a stneduts eht -h  slaitnesse eht fo egdelwonk dna  hsilgnE fo
.skrow yraretiL  

.2   dna rammarG hsilgnE cisab eht dnatsrednu ot stneduts eht elbane oT
.slliks noitacinummoc   

 

:noitanimaxE fo nalP  

skram lluF    :   001 skraM  
dnE retsemeS   : 7 skraM 0  

tnemngissA    :  3  skraM 0  
 

:tnemssessA lanretnI  
 

.1   nA    tnemngissA  fo 3 ram 0 eb lliw sk   .yroslupmoc    
 

 
:dnE retsemeS  

.1  .snoitseuq evif rewsna ot deriuqer eb lliw stnedutS  

.2  .eciohc lanretni htiw snoitseuq yrrac lliw tinu hcaE  

.3   tinu hcaE maxe lanif eht ni skram 61 yrrac lliw noitani . 

stnetnoC : 

 tinU -    :A   gnitirW esorP gniydutS hsilgnE nI  

 :niaJ anaplaK ahS ,amgitS m ecneliS dna e  
 :renidraG G A daoR eht fo eluR eht nO  
 :llerruD dlareG slaminA gnihsinaV . 

 :ttebroC miJ hgniS rawnuK . 

 tinU -  :B  egasU dna rammarG  

ioV ,snoitisoperP  ,srorrE fo noitcerroC ,egnahC ec D tceri -  ,hceepS tceridnI  esU
V fo sbre .nosirapmoC fo seergeD ,  

 tinU -  :C  noitisopmoC dna noisneherpmoC  

.noisneherpmoc rof egassap neesnu nA  
/hpargaraP sicérP  gnitirW retteL lamroF/gnitirw  

tinU  -  :D  amarD gniydutS  
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 :eraepsekahS mailliW  sA I ekiL uoY t. 

 tinU -  :E   slliks lanoitasrevnoC /noitacinummoC  

lliks noitacinummoC ; ugnaL hsilgnE eht htiw gnitnemirepxE ,WRSL  ni ega
.gnitirw eugolaiD ,gnitirw dna noitasrevnoc  

  

:skooB dednemmoceR  

.1   :ardnahC hsidgaJ hsilgnE evitaerC PUO :  

.2   :erapsekahS milliW .tI ekiL uoY sA  

.3  rof esorP  T ruO emi s .nawskcalB tneirO :  

.4   :nitraM & nerW noitisopmoC & rammarG loohcS hgiH . 

.5   :tenitraM .V.A & nosmohT .J.A  rammarG hsilgnE lacitcarP A .UPO  

.6   sreenignE rof sllikS noitacinummoC  ,anhsirkilaruM .C dna arhsiM atinuS yb
,yelsredniK gnilroD yb dehsilbuP  .6002  

.7  droW nettirW ehT . P aidnI ,PUO yb dehsilbu ,  rof si siht( hgniS anadnaV yb
)hsilgnE evitacinummoc  

.8  .V   :ajimahD .V.P & ramukisaS hsilgnE nekopS .lliH warGcM ataT :  

.9   .J.R noxiD  : hsilgnE ni seugolaiD yadyrevE . 
.01  isrevinU erolagnaM rof kooB txeT egaugnaL eergeD tsriF .nawskcalB tneirO :yt  
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 GNEB – )E( 101 :  ERUTARETIL HSILGNE GNICUDORTNI – I 
 

    (  EVITCELE HSILGNE – I) 
 

:sevitcejbO  

.1  .erutaretil fo smrof elpmis eht htiw stneduts eht tniauqca oT  

.2   .smrof yraretil nommoc emos fo egdelwonk cisab eriuqca meht pleh oT  
 

:noitanimaxE fo nalP  

skram lluF    :   001 skraM  
dnE retsemeS   : 7 skraM 0  

tnemngissA    :  3  skraM 0  
 

.1   tinu morf hcae egassap eno txetnoc eht ot ecnerefer htiw nialpxe ot deriuqer eb lliw stnedutS

 .eciohc lanretni na htiw C dna B   )61 = 8 x 2(  

.2   xis latot fo tuo D ot B tinu morf hcae eno ,snoitseuq eerht rewsna ot deriuqer eb lliw yehT

o snoitseuq epyt yasse  yreve ni eciohc lanretni na htiw stxet debircserp eht fo gnidnatsrednu n

 .tinu       )84 = 61 x 3 (  

.3    .smret yraretil nevig xis eht fo tuo ruof yna noitartsulli htiw enifed ot deriuqer eb lliw yehT

 .)61 = 4 x 4(  

 

:stnetnoC  
 

 tinU – :A  txet morf snoitanalpxE s 

.yduts deliated rof era C dna B tinU ni smeop llA  

 tinU –  :B  yrteoP  

 snruB treboR – esoR deR ,deR A  

 s’trebreH egroeG – yelluP ehT  

 s’llevraM werdnA –  oT ssertsiM yoc siH   

 yellehS -f mor  dnuobnU suehtemorP   

 tinU –  :C   yrteoP  

   nosynneT droL derflA –  ,kaerB kaerB ,kaerB  

 s’ydraH samohT – hsurT gnilkraD ehT  

ecieNcaM siuoL - htriB erofeB reyarP  

 dlonrA wehtaM –  gnignoL  

 

 



6 
 

 tinU –  :D  seirotS trohS  

 tnassapuaM ed yuG – ecalkceN ehT  

 s’vokehC notnA – teB ehT  

 eneerG maharG – ytraP eht fo dnE ehT  

 

 tinU –  :E  mreT yraretiL s 

 ,tehtipe ,elobrepyh ,noitacifinosrep ,ecnanossa ,noitaretilla ,rohpatem ,elimiS

 ,noromyxo ,yregami ,sisehtitna ,ynori ,ehcodcenys ,margipe ,tehtipe derrefsnart

.nup ,ymynotem ,xodarap ,aieopotamono  

 

:gnidaeR debircserP  

.1   ,droW degniW .).dE( eneerG divaD .nallimcaM  

.2   .).dE( dasarP .C.R  ecalkceN ehT .ihleD weN ,esuoH gnihsilbuP hsakiV ,seirotS rehtO dna  

.3   .H.M ,smarbA smreT yraretiL fo yrassolG A  .nallimcaM ,  

.4  ).sdE(anhsirkilaruM .C & ujaR vadaY .B - .nawskcalB ,hsilgnE egatnavdA  

 

:gnidaeR detsegguS  

.1   ,arwoB .M.C R noitanigamI citnamo .PUO ,  

.2   ,nostaW .R.J doireP citnamoR eht fo yrteoP hsilgnE .namgnoL ,  

.3   .srednaS werdnA erutaretiL hsilgnE fo yrotsiH drofxO trohS ehT  .aidnI PUO ,  

.4   .sdrahciR dranreB  0381 steoP nairotciV eht fo yrteoP hsilgnE – 0981  .namgnoL ,  

.5  .kilaM oknaliN  hceepS fo serugiF dna ydosorP hsilgnE tcapmoC  .nallimcaM ,  

.6   ,esoB .N.M scitenohP dna ydosorP cirotehR fo slaitnessE  .dtL .tvP ssadisranaB lalitoM ,  
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 GNEB – 2 20  )C( :  YROSLUPMOC HSILGNE – II  

 

evitcejbO s: 

.1   .erutan decnavda yletaredom a fo stxet yraretiL hsilgnE dneherpmoc ot stneduts eht elbane oT  

.2   eht dna hsilgnE fo esu yraretil xelpmoc erom eht otni stneduts eht fo yrtne tsrif etatilicaf oT

 .ti hguorht deyevnoc noitpecrep dna seulav namuh  

 

 fo nalP :noitanimaxE  

skram lluF    :   001 skraM  
dnE retsemeS   : 7 skraM 0  

tnemngissA    :  3  skraM 0  
 

.1  tinU ni deksa eb lliw eciohc lanretni htiw noitanalpxe rof segassap owT -  derrats eht morf A

 .stxet          )61 = 8x2(  

.2  tinU ot B tinU morf tinu hcaE -  61 yrrac lliw E skram  

 

:tnemssessA lanretnI  
 

.1  3 fo tnemssessa lanretnI nA  fo mrof eht ni enod eb lliw skram 0 lanretnI   ,stset eb llahs dna  
.tnemssessa lanif rof deredisnoc  

 

:stnetnoC  
 

 tinU –  :A  noitanalpxE txet derrats morf s  
 

 tinU – :B   yrteoP  

yendiS pilihP   -  ehT elagnithgiN  

trebreH egroeG   - yelluP ehT    

notliM nhoJ*   - sendnilB siht nO s 

* ekalB mailliW   - teeF esohT diD dnA   

* htrowsdroW mailliW  - 2081 ,nodnoL  

 gninworB treboR  - revoL s’airyhproP  

* ydraH samohT   - hsurhT gnilkraD ehT  

* neduA HW   - nezitiC nwonknU ehT  

 

 

 tinU –  :C   noitciF  



8 
 

 snekciD selrahC   - snoitatcepxE taerG . 

 tinU –  :D  gnitirw yassE   

 tinU –  :E   egasU dna rammarG  

moidI dna sesarhP s I ,smynonyS dna smynotnA ,  ,hceeps fo strap fo egnahcretn

.drow elgnis a yb sdrow fo puorg a fo noititsbuS ,sevitunimiD   

 

:gnidaeR debircserP  

.1  droW degniW ehT .nallimcaM ,neerG divaD )dE( ,  

.2  yrusaerT nedloG s’evarglaP drofxO ,  

 

:gnidaeR detsegguS  

.1  voN eht ydraH e tsil  .liceC divaD yb  

.2  ydraH samohT  sreffeJ namroN yb  

.3  stsilevoN nairotciV ylraE  .liceC divaD yb  
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 GNEB – YROSLUPMOC HSILGNE )C( 202 - III  

:sevitcejbO  

.1   ,laicos lla ni stnemeriuqer noitacinummoc fo psarg mrif a evah ot stneduts elbane oT
txetnoc laiciffo dna ssenisub s. 

.2   htiw srepap noitanimaxe evititepmoc etirw dna sweivretni ecaf ot stneduts eraperp oT
noc retaerg .ecnedif  

.3  .sretirw evitaerc otni moolb ot stneduts pu niart oT  

:noitanimaxE fo nalP  
skram lluF    :   001 skraM  

dnE retsemeS   : 7 skraM 0  
tnemngissA    :  3  skraM 0  

 

.1   cimenohp eb lliw eno hcihw fo A tinU morf hcae skram 8 fo snoitseuq owt eb lliw erehT
)61+2x8( .noitasrevnoc fo mrof eht ni eb lliw rehto dna kram sserts htiw noitpircsnart  

tinU morf tinu hcaE -  tinU ot B – skram 61 yrrac lliw E  

:stnetnoC  
 

 tinU – :A  noN dna evitaN ,txetnoc labolG dna naidnI :hsilgnE nekops fo ecnatropmI -
lgnE fo stneccA evitan .ytilibigilletnI fo eussI dna hsi  

- T citenohP ,llikS gnicnerefeR yranoitciD .snoitanotni & ssertS ,noitpircsnar  
-  ,em esucxe ,dluow ,lliw ,thgim ,yam ,dluoc ,nac fo esU ,hsilgnE ni yletilop gnikaepS

gnisserpxe ni esaelp dna sknaht ,yrros  milpmoc ,edutitarg ,stseuqer  ,tnemeerga ,stne
cinohpeleT dna tnemeergasiD  .noitasrevnoc   gniteeM :snoitasrevnoc lanoitautiS

,flesruoY gnicudortnI ,sgniteerG ,elpoeP  
- .sknahT gniyaS ,elpoeP gnicudortnI  

 tinU – :B  gnitirW erutaeF  
- gnitirw elcitrA  weN rof ps  srepa senizagaM &  
- shparG/smargaiD/strahc fo noitaterpretnI selbaT/  

 tinU – C: setuniM ,adnegA ,mudnaromeM ,ecitoN gnitirW  ,shpargarap ,stnemesitrevda ,
.gnitirw yrammus ,sicérp  

 tinU – :D  e ,gnitirw VC ,gnitidE ,gnitirw tropeR - sliam gnitirw nagols ,gnitirw telhpmap ,  ,  

 tinU – :E   yalP ,yrotS ,meoP :gnitirw evitaerC   eugolaiD )seniltuo nevig htiw(  

  :gnidaeR detsegguS   llikS tfoS – hsilgnE nekopS  

.1   :namdoR dna reldA noitacinummoC namuH gnidnatsrednU  

.2   :lleB & ragantahB hsilgnE ni noitacinummoC  

.3  T ,mainamarbusalaB  :  koobtxeT A rof scitenohP hsilgnE fo  I stnedutS naidn   hsilgnE
51 yranoitciD gnicnuonorP ht  7 yranoitciD srenraeL decnavdA weN/noitidE ht  .noitidE  

.4  C.A ,nosmiG  noitaicnunorP hsilgnE ot noitcudortni nA :  

.5  nosirraH & lasnaB .aidnI rof hsilgnE nekopS :  
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 GNEB - 202  )E( :  ERUTARETIL HSILGNE GNICUDORTNI – II 

 
    (  EVITCELE HSILGNE – I )I  
 
 

:sevitcejbO  

.1  eht etaerc oT   tseretni  stneduts fo ni   erutaretiL hsilgnE  

.2  .hsilgnE fo erutaretiL citamarD eht htiw meht esirailimaf oT  

.3   .smrof yraretil tnereffid htiw meht tniauqca oT  
 

 fo nalP :noitanimaxE  

skram lluF    :   001 skraM  
dnE retsemeS   : 7 skraM 0  

tnemngissA    :  3  skraM 0  
 

.1  tneduts ehT s erefer htiw hcae skram 8 fo segassap owt nialpxe ot deriuqer eb lliw  eht ot ecn

 tinU morf txetnoc – B tinU & -C  .      )61 = 2 x 8(  

.2   ot deriuqer era yehT noitseuq epyt yasse eht rewsna s eciohc lanretni na htiw ,  morf hcae eno

 tinU –  tinU ot B –  .D      )84 = 3 x 61 (  

.3   ot evah lliw stneduts ehT elpmaxe htiw etartsulli ,ssucsid ,enifed  yraretil xis fo tuo ruof s

tinU morf smrof - E  .       )61 = 4 x 4 (  

:stnetnoC  
 

 tinU –  :A   tinU morf snoitanalpxe owT – B 

nU  ti –  :B  amarD  

   :eraepsekahS mailliW uJ raseaC suil   

 tinU –  :C  amarD  

   :htimsdloG revilO reuqnoC ot spootS ehS  

 tinU –  :D  yalP tcA enO  

reP dliW s  :lavi hturT fo ruoH ehT  

 :terraF llehctiM nalP diaL tseB ehT  

toivaD   :nodroG tnuA yM fo neP ehT . 

 :yhtniraK ztirF dnufeR ehT  

 tinU –  :E   smroF yraretiL  

  ,edO ,dallaB ,ciryL noS .eugolonoM citamarD ,eritaS ,ygelE ,cipE ,ten  

 nO ,amarD yalP tcA e  

  .seirotS trohS ,levoN ,yassE  
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:gnidaeR debircserP  

.i   :eraepsekahS mailliW uJ  suil raseaC   

.ii  sdloG revilO  :htim reuqnoC ot spootS ehS   

.iii   ynapmoC & dnahC.S ,ihleD :syalP tcA enO nredoM xiS :M leunaM  

:gnidaeR detsegguS  

.1   :WME draylliT syalP tsaL eraepsekahS  

.2   :A llociN amarD hsitirB  

.3   :.H.M eldraW htimS dloG revilO . 

.4   :.H.M marbA  fo yrassolG A smreT yraretiL . 

.5   :sirhC kcidlaB smreT yraretiL fo yranoitciD drofxO esicnoC ehT . 

.6   :.A.J nodluC D A dna smreT yraretiL fo yranoitci  seiroehT yraretiL   
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 GNEB - 303  )E( : AMARD DNA YRTEOP GNIDAER  
 

 
:sevitcejbO   

.1   eht fo ytiliba eht erusne oT  decnavda fo stxeT hsilgnE dneherpmoC ot stneduts
.erutan  

.2   .stxet yraretil fo sisylana ni gniniart cisab htiw stneduts eht edivorp oT   
  

 

:noitanimaxE fo nalP  
skram lluF    :   001 skraM  

dnE retsemeS   : 7 skraM 0  
tnemngissA    :  3  skraM 0  

 
.1   eb lliw stnedutS txetnoc eht ot ecnerefer htiw ,nialpxe ot deriuqer , owt yna  ruof eht fo tuo  

 stxet derrats  morf tinU - C dna B   .ylno     ) 61 = 8 x 2(  
.2   rewsna ot deriuqer eb lliw yehT eerht  hcae eno ,  morf tinu s dna C ,B  D  epyt yasse xis fo tuo

 debircserp eht no snoitseuq )84 = 61 x 3(  .tinu yreve ni eciohc lanretni na htiw stxet  
.3   neesnu na ,E tinU nI lliw meoP  noitaicerppa rof nevig eb . )61 = 61 x 1(  

 
:stnetnoC  

 

 tinU –  :A   .C & B tinU morf txetnoc eht ot ecnerefer htiw noitanalpxE  

 tinU –  :B  yrteoP  

* ennoD nhoJ   -  s’revoL ssenetinifnI  
iM nhoJ  notl   - emiT htaH nooS woH    

epoP rednaxelA   - S no edO edutilo  
egdireloC .T.S   - nahK albuK  

* staeK nhoJ   - nmutuA ot edO   

 tinU –  :C  yrteoP  

*  gninworB .R   -  .ssehcuD tsaL yM  
*  staeY .B.W   - gnimoC dnoceS ehT   

eraM aL eD retlaW  - ibarA  .a  
wO derfliW ne   - gniteeM egnartS  
toilE .S .T   -  noitnoreG  

 tinU –  :D  amarD  

wohs dranreB egroeG  -  noilamgyP  
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 tinU –  :E  msicitirC lacitcarP  

 .meop neesnu na fo noitaicerppA  

:gnidaeR debircserP  

.1   ).dE( eneerG divaD droW degniW nallimcaM ,  

.2   :wahS dranreB egroeG noilamgyP    
 

:gnidaeR detsegguS  

.1   :E ,treblA erutaretiL hsilgnE fo yrotsiH ihleD ,drofxO ,  

.2   :eirojraM notluoB nA mota yrteoP fo y . 

.3   ,eeydrallA ,llociN amarD hsitirB ihleD ,esuoH abaoD ,  

.4   :dasarP .B B A erutaretiL hsilgnE ot dnuorgkca  .  

.5   s’evarglaP yrusaerT nedloG drofxO ,  

.6  sdrow degniW ehT  nallimcaM :  
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 GNEB – 03 3 )E(  : NOITCIF DNA ESORP GNIDAER  
 

 
:sevitcejbO  

.1   fo noitciF & esorP hsilgnE esylana dna dneherpmoc ot stneduts eht elbane oT
.erutan decnavda na  

.2  p oT etomor  ni ytiliba na   larutcurts sti gnisylana dna noitcif gniterpretni
 .stnenopmoc  

  
:noitanimaxE fo nalP  

skram lluF    :   001 skraM  
dnE retsemeS   : 7 skraM 0  

tnemngissA    :  3  skraM 0  
 

.1  snoitseuq ruof rewsna ot deriuqer eb lliw stnedutS ,  hcae eno  morf  thgie fo tuo D ot A tinu
 ni eciohc lanretni na htiw stxet debircserp eht fo gnidnatsrednu eht tset ot snoitseuq epyt yasse

 .tinu yreve      (4  x 61   = 46  ) 
.2   neesnu na ,E tinU nI noitaicerppa rof nevig eb lliw egassap esorp (  . 1  x 61   = 61 ) 

 
:stnetnoC  

 

 tinU –  :A  esorP  

- roeG g  llewrO e  -   erutaretiL fo noitneverP ehT  
- urheN .L.J  - ihdnaG ot egamoH  
- iruhduahC .C.N  - namhsilgnE eht dna yenoM  

 tinU –  :B  levoN  

- nayaraN .K.R  - ediuG ehT  

 tinU –  :C  levoN  

- aJ n etsuA e n - ecidujerP dna edirP   
- iaseD   -  eht no eriF niatnuoM  

 tinU –  :D  seirotS trohS  

- A ragdE eoP nall  - tnomA fo ksaC ehT i odall  
- flooW ainigriV  - relleweJ eht dna ssehcuD ehT  
- dleifsnaM .K  - ylF ehT  
- nayaraN K R  - rezalB neerG eht fo liarT ehT  

 tinU –  :E   msicitirC lacitcarP  

- sap esorp neesnu na fo noitaicerppA  .egas  
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:sgnidaeR debircserP  

.1   :nayaraN .K.R ediuG ehT  

.2   :netsuA enaJ ecidujerP dna edirP  

.3  noitceleS yrteoP dna esorP  ,nahsakarP kinaM inaM noitacilbuP ,ytisrevinU itahuaG ,
 .itahawuG  

.4   :).dE( dasarP .C.R  rehto dna ecalkceN ehT S seirot sakiV ,   .ihleD weN ,esuoH gnihsilbuP  

.5   : iaseD atinA riF niatnuoM eht no e  

.6   :).dE( ailorheM uhdaM .seirots trohS fo ygolohtnA nA‘ noitciF teehs fo smeG  

.7  semit ruo rof esorP .naws kcalb tneiro ,  

:sgnidaeR detsegguS  

.1   ,semaJ ,seveeR nnamenieH ,esneS lacitirC ehT nodnoL ,  

.2  B  ;eirojraM notluo esorP fo ymotanA  .  

.3   :.R.K ,asavinirS ragneyI hsilgnE ni gnitirW naidnI  .yabmoB ,esuoH gnihsilbuP aisA ,  

 

 

 

 

 

 

 

 


